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QUESTION 1

A customer is deploying VoLTE and complains about high voice drop rates and voice quality degradation at the cell
edge in most LTE cells in the area. The network has a dense WCDMA coverage on the 700 MHz band and patchy LTE
coverage on the 2100 MHz band. 

Which two features would you activate to solve this problem? (Choose two.) 

A. DRX 

B. 256 QAM DL 

C. TTI Bundling 

D. SRVCC Handover to UTRAN 

Correct Answer: CD 

 

QUESTION 2

Which two statements are correct about a Self-Organizing Network (SON)? (Choose two.) 

A. SON is a trace collection procedure for coverage prediction and reporting purposes. 

B. SON is a centralized solution that automatically collects data and modifies parameters using a predefined algorithm. 

C. SON is a drive test measurement tool for evaluation of network quality and new site location proposals. 

D. SON is a combination of functions that automatically change network behavior. 

Correct Answer: BD 

 

QUESTION 3

What is a benefit of soft handover? 

A. It decreases channel element usage. 

B. It ensures successful handover among detected cells. 

C. It reduces the connected user load of neighboring cells. 

D. It decreases interference. 

Correct Answer: B 

 

QUESTION 4

Which three service KPIs (S-KPIs) are obtained by DT measurement? (Choose three.) 
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A. bearer drop rate 

B. handover success rate 

C. additional status total time for social media 

D. initial buffering time for video 

E. interactive time for Web browsing 

Correct Answer: ABD 

 

QUESTION 5

After the installation of a new LTE antenna on a roof top, UL interference power for that sector is observed. In this
scenario, which two situations would cause the interference? (Choose two.) 

A. Equipment that generates electrical magnetic fields are in the same location. 

B. The antenna was placed on a mast near the edge of a rooftop. 

C. A plastic enclosure was placed to cover the antenna. 

D. Reflective objects such as metal chains or metal ladders were placed in front of the antenna. 

Correct Answer: AD 
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